MATH 220
e CSV\J’\'V\M{AF@W( (ot Hmae

s Thesom . Lk G= (V,E) be a WL\, ustHA
n Verhou (non-2er0)

Lk <, 4 €V Tom i Hawe & &, puh fan
¢ b A, e shedest (mon-wwed parb how
lUAsMN A

w Explamanion - Guppese we had a,?mag,
J-QMSHN ZW verh(ea

Y/

'L::O\o—’) A — 0, — - = Gy A :O

St WS path haw Legin mPn, ak leact
tuso o& e  wvotics  owe uluﬂ.: A=Ay fov
gL e < Q-

Tham We coam S/\'\MP(/j deleke Ahe petion of
e patt fom a, b oa, ,t Make it steter.

Con e wiah Yo WA how Jemgtr < W
Done |

O

¢ Uptor
L G =(V,E) have v verhees
To Pud Gf e (s ooy pat fon L by,
(o Mev Zero laayia) , we sdeuj compule

(A FR A +A"5 .
(1,3)

W s ey is zew, Hum frere is wo
poth fow 4 o, othwrwie Hus emby gives

Yow e nuwmboer og‘/ ?aHM 'L-—*'“"’J og,
\UASMA .

x¥ Tvamnhve closure

L A
« —a

bR
=N b T NT

1 2

[]

+ #

The Homabve Closwre a vdahav B 15 fhe

minimal  emhhive velladswn ’R' smch Haok 292'
(see wovesheet fiv mave)

xx  Tyamsihve closure  waing adjocensy makmees
4 _ous

Whenexea (A"')@»)S) + 0, (hamge e (1“,3‘)“"

oty of A b 4 (Wl elabovate ssM).



w¥ Boovleann amawmen'c

R I/“T‘Z\)g"
. 3
Debived on dus set 0,1}
We hane spcmxhswo
. OVO =0
- v (Yor") : ovic ivo=4ivi= 4
a —
- AN Y AND . OAD =0
( > 0OAL = p LAadt=4
4 N0 =0

% Not o e an addibon wod 2[

x*x Borlean wahe swm /prodind

- ’Do,grwuz,& Sﬁmr MR Wwike  anbies 0 2 1.

Some once,du% aa  woudl wmahi  guwm /[no&Mc,Q;
but W%H\ML Ysu

- oadd vmuwbed | yg  Nor” Hiom
a+rb Ao A Vb

- Mubply numns, yer CAND' M
0\-10 %% aAb

r{D,i’S ) ogether otV LA s

w\ SUM‘.\f\V]g (JJ

s Expumple
A= [L ﬂ Nokahon: A % B = Booleam
° 4 Wodﬂ\drﬁg—
A win B -

LADN (1) (AAD YV (LAL)
L%k = [;L i’&%[i EB:Y OVl
° 4 6 1 (0 £V (£0) (040) v (1 41)
%2
14 4
S P

On dhe sHwr hand, A,As[‘gﬂ £ AxA

\

[Bsolean aitmelic cam't coud, but ik Tells ysw ye/mo]

e
# Tl eties of AL A is an adjacency

mahix, Lk yow  wheeds Hure are paRu of
lw\aéﬁ« ovady L -

¥ Thesvomt : The adﬂ‘acwuj wiadix 63{ Ha ham&hve
o WIe 05* o velaon wita adgacency makix A g

givos by
(kv KvAT v vE"Y)

Bovleam wahiy sum -



AT E&P@&&&, Squgw\v\@
Examply - Uow b compute A
’rmdA‘Hs\Aale L AeA A
YT 13 makix product-

Bedtor -

A

A S

7—2,

%’ Af)
) (Ag> /
4 oot 4 L Pnak sperabon = &

2% 32 4 |
Secretly, bivamy  avitwent / base- 2 wihiag.

Let NnN>o be am ‘IVLI/%W‘ WVih'vﬂm "
basg - 2. weams wvﬂﬂ'n@ it an the Swm

b(, d/\‘SHV\d’ r’qgvum D‘{/ 2 .

- pradice, hew & coupule s 7
J s 4 3

[SULCC.UW\'\/dAj SMJO}’VCL(‘J’ —HAQ, oAk 1)6\/\)% 0;% 2
Har 5 <& %/s\w V\uuMbe/nf

(ym’b{ ceo s aﬁmmf)

*x MBM Mﬂw@ Wi el

Cougidor o geaptn 6= (V,E)
foguiiar usHe gt o1
Ladn e,dﬁe,.

Eacinr wex'g't/w . be amy read

nuumber.

\Nuw a.&jacwc,j MK
@ 3 0 ©) @QAAMM ore. Havse
A0 % = shore Hore 1S V0

SO O0 chae, amd we'lk decide
2 8 ~3® [adev wf/\ﬂi’%@m heve -




